I ( ()"0 — i T
/} a a,b
@)

uﬁ{)éﬁc ait L (UibéA) =L (U‘HUDév"() .

ANpe :

) Statpurtod  Howge olow abibtu Hatfruinid
Thea = 1513,
2y {eledi f 4
Als,a)=15,923 = nener Zudnud (8,823
& ({983,a)= {93 .

A(Sb)=15%3 = O kel 193

Jelultt 2
A(s,a)= {S,,S‘z}/ = newer potaud {4,953
A (s7,8)= {S33 dﬁu@Dé&C{Q,,S‘zg Q) = =79,$2,523
A(Si,b)= 963 ).__) hewer 7wvtaud 19,533
A (iné): RS 6:,4 ep(( 3,523, fo) 7S, Sz .

Scluib 3 a)

Als,a)= £8523) - 36,95,853,a) = 15,5252 F
A(Sza)= 7953 | \,gwkt.f $2,833,4)
AlLz,a)=¢ |
(3116) %S,B 5l J&QG&C{QUS\?ISBSJE) :{‘91,333 :
A (S,b)={$33
A (S3,b)= 0
$23

S f bt 2 :
% 0,523 = 0 Aoe#\{ £S,S25,4)= 1%
N S35, ) = {84

A(Sa,,b')::j%ﬁ \ = g\ﬁ‘peﬁr[‘isb




